|a graph of the function from the given information.
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State the extreme values and their type.
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State the extreme values and their Type.
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'dinates when x = 2.5 and x = 6.5.

7 =4.375
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ot the points on the above curve and draw vertical li
x-coordinates.

3) Draw a secant line between the two plotted points.

4) Calculate the slope of the secant line.

M = ||.375“l1'_3_7§: _l
5 -25 4

5) Are there any points on the curve in the interval (2.5,
tangents have the same slope? If so, what is/are the va

they exist? 'FI(-X') - ?) J(:"‘ I, '3 A ‘}" ‘3
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2) Plot the points on the above curve and draw vertical |
x-coordinates.

3) Draw a secant line between the two plotted points.

4) Calculate the slope of the secant line.
=243

5) Are there any points on the curve in the interval (0.7

tangents have the same slope? If so, what is/are the v
they exist?
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Vhat statement can you make about the function on the two closed intervals?
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